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RECALL  & JUSTIFY DERIVATIVE  RULES  § properties  THAT  we ( •

IF FLX)  =  C
,  THEN FEX )  =0 .

)
SAW  BEFORE  EXAMT . ••If fcx )  =  AX

,
THEN f '

( x ) =  a
.
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if f(×)=  xn
,

THEN fix )=  nx
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POWER RULE

WE  SHOULD ALSO RECALL THE FOLLOWING PROPERTIES :
l

,
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PRIMES :

l
'

- - - → JUSTIFY WHY EACH ONE  OF  THESE

• [ fcx ) ± g ( x ) } = fkx ) t.gl/y
Is  TRUE  THE EXAMPLE  OR

EXPLANATION

EQUIVALENTLY : # ( ftx )  t.gl/D=ddxfCx)=dFxgK)
• [ c. ftxf

"

= C . f 'm FOR A  CONSTANT  C.

EQUIVALENTLY : ¥ ( cftx ) ) =  C ' ¥ ftx )

EXAmPLE= : Use  THE RULES ) PROPERTIES WE  ALREADY KNOW  TO FIND THE DERIVATIVES OF  THE FOLLOWING
:

( I ) f( X ) = ( X -1 9) ( x - 4) - WHAT'S  THE  Issue  HERE ?
HOW  CAN  I APPLY THE POWER RULE ?

FIND f 'LX ) .

AFTER
THIS ,

HATACRUTY
FOIL / p

fcx ) = ( xt 9) ( x - 4)

= 1/2 - 4×+9×-36

=  7/2+5×-36 - NOW 1 CAN  USE  POWER  RULE !
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( ii ) TCZ) =
 HIT 9¥71 - 2- me  WE  MIGHT  WANT TO  Rewrite  THIS FIRST. ( USING  EXPONENTS )

ENDTCZ )
.

YF Tcz ) =  £42  + q (E)
'13

- 24-2545

= 2-1/2  
+ 9 z% - 2£45 - NOW  1  CAN  USE  POWER RULE !
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,n.FI#teshEtsn=7l3l
h -1=4/3 f (E).qz4÷
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